
 



 
Reciprocal system means if you have terms like   𝑏𝑥,

𝑎

𝑥
    𝑤ℎ𝑒𝑟𝑒 𝑎, 𝑏 𝜖 𝑅    

wherein if we multiply the two numbers we should get rid of the variable x. 

 NOTE 1 : here a and b  are some real constants and x is a variable 

NOTE 2 : if AM=GM or AM=HM or GM=HM then, the terms involved in the means will be equal to 

each other. 

 

 

 

 

 

 



 

Similar questions can be asked in quadratic equations and expressions chapter  

(using (AM GM ) , (GM HM) , (AM HM) inequalities ). 

For example : 

 

 

𝑰𝒇 𝒕𝒉𝒆 𝒆𝒒𝒖𝒂𝒕𝒊𝒐𝒏 𝒙𝟒 − 𝟒𝒙𝟑 + 𝒄𝒙𝟐 + 𝒅𝒙 + 𝟏 = 𝟎  
𝒉𝒂𝒔 𝒕𝒉𝒓𝒆𝒆 𝒑𝒐𝒔𝒊𝒕𝒊𝒗𝒆 𝒓𝒐𝒐𝒕𝒔 𝒕𝒉𝒆𝒏 𝒇𝒊𝒏𝒅 𝒕𝒉𝒆 𝒗𝒂𝒍𝒖𝒆 𝒐𝒇 ∶ 
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+
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SOLUTION :  

 
because ( +ve number ) ( +ve number ) ( +ve number ) ( +ve number ) = ( +ve number ) 



 
 

 


